# ON THE STABILITY OF THE COSINE TYPE FUNCTIONAL EQUATION

### GWANG HUI KIM

ABSTRACT. The aim of this paper is to study the superstability problem of the cosine type functional equation  $f(x+y) + f(x+\sigma y) = 2g(x)g(y)$ .

### 1. Introduction

J. Baker, J. Lawrence and F. Zorzitto in [4] introduced that if f satisfies the stability inequality  $|E_1(f) - E_2(f)| \le \varepsilon$ , then either f is bounded or  $E_1(f) = E_2(f)$ . This is now frequently referred to as superstability.

The superstability of the cosine functional equation ( also called the d'Alembert functional equation)

(C) 
$$f(x+y) + f(x-y) = 2f(x)f(y)$$

and the sine functional equation

(S) 
$$f(x)f(y) = f\left(\frac{x+y}{2}\right)^2 - f\left(\frac{x-y}{2}\right)^2,$$

are investigated by J. Baker [3] and P. W. Cholewa [6], respectively.

The d'Alembert functional equation (C) is generalized to the following functional equations

$$(C_{fg})$$
  $f(x+y) + f(x-y) = 2f(x)g(y),$ 

$$(C_{qf})$$
  $f(x+y) + f(x-y) = 2g(x)f(y),$ 

which f, g are two unknown functions to be determined. The equation  $(C_{fg})$ , raised by Wilson, is called the Wilson equation, and the equation  $(C_{gf})$  is raised by Pl.

Received by the editors September 4, 2006 and, in revised form, January 24, 2007.

<sup>2000</sup> Mathematics Subject Classification. 39B82, 39B52.

Key words and phrases. stability, superstability, functional equation, sine functional equation.

Kannappan and G. H. Kim [9]. The above functional equations have been investigated by Badora, Ger, Kannappan, Kim, Sinopoulos, Stetkaer, etc ([2], [3], [6], [7], [8], [10], [11], [12], [13], [14], [15]).

As another generalization of the cosine functional equation, we can consider the cosine type functional equations as follows:

$$(C_{gg}) f(x+y) + f(x-y) = 2g(x)g(y),$$

$$(\widetilde{C}_{gg}) f(x+y) + f(x+\sigma y) = 2g(x)g(y).$$

Given mappings  $f,g:G o\mathbb{C}$ , we define a difference  $D\widetilde{C}_{gg}(x,y):G imes G o\mathbb{C}$  as

$$D\widetilde{C}_{gg}(x,y) := f(x+y) + f(x+\sigma y) - 2g(x)g(y),$$

and let

$$(\widetilde{C}) f(x+y) + f(x+\sigma y) = 2f(x)f(y),$$

$$(\widetilde{S}) f(x)f(y) = f\left(\frac{x+y}{2}\right)^2 - f\left(\frac{x+\sigma y}{2}\right)^2.$$

$$(\widetilde{C}_{fg}) f(x+y) + f(x+\sigma y) = 2f(x)g(y),$$

$$(\widetilde{C}_{gf}) f(x+y) + f(x+\sigma y) = 2g(x)f(y).$$

Badora and Ger [2], Kim and Dragomir [11], Kim [10] have proved the superstability of the cosine equation (C), the cosine type equations  $(C_{fg})$ ,  $(\widetilde{C}_{fg})$ ,  $(\widetilde{C}_{fg})$ , and  $(\widetilde{C}_{gf})$  under the condition

$$\begin{split} |DC(x,y)| &\leq \varphi(x) \quad \text{or} \quad \varphi(y), \\ |DC_{fg}(x,y)| &\leq \varphi(x) \quad \text{or} \quad \varphi(y), \\ |DC_{gf}(x,y)| &\leq \varphi(x) \quad \text{or} \quad \varphi(y), \\ |D\widetilde{C}_{fg}(x,y)| &\leq \varphi(x) \quad \text{or} \quad \varphi(y), \\ |D\widetilde{C}_{gf}(x,y)| &\leq \varphi(x) \quad \text{or} \quad \varphi(y). \end{split}$$

The aim of this paper is to investigate the stability problem on the abelian group for the cosine type functional equation  $(\tilde{C}_{qq})$  under the condition

$$|D\widetilde{C}_{gg}(x,y)| \le \varphi(x)$$
 or  $\varphi(y)$ .

The obtained results not only imply naturally the stability of the equations (C),  $(\tilde{C})$  and  $(C_{gg})$ , but also can be extended their range to the Banach algebra.

In this paper, let (G, +) be an Abelian group,  $\mathbb C$  the field of complex numbers, and  $\mathbb R$  the field of real numbers, and let  $\sigma$  be an endomorphism of G with  $\sigma(\sigma(x)) = x$  for all  $x \in G$ , where a notation  $\sigma(x) = \sigma x$ . The properties  $g(x) = g(\sigma x)$  and

 $g(x) = -g(\sigma x)$  with respect to  $\sigma$  will be represented as even and odd functions for convenience, respectively. We may assume that f and g are nonzero functions and  $\varepsilon$  is a nonnegative real constant,  $\varphi: G \to \mathbb{R}$ . If, in all the results of this article, we consider the Kannappan condition f(x+y+z) = f(x+z+y) (see [8]), then we will obtain same results for the semigroup (G, +).

## 2. Stability of the Equation $(\widetilde{C}_{qq})$

In this section, we will investigate the stability of the cosine type functional equation  $(\widetilde{C}_{gg})$  related to the sine functional equation  $(\widetilde{C})$ .

**Theorem 1.** Suppose that  $f,g:G\to\mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x+\sigma y) - 2g(x)g(y)| \le \varphi(y) \qquad x, y \in G,$$

with g(0) = 1. Then either g is bounded or g satisfies  $(\widetilde{C})$ .

*Proof.* Let g be unbounded. Then we can choose a sequence  $\{x_n\}$  in G such that

(2) 
$$0 \neq |g(x_n)| \to \infty$$
, as  $n \to \infty$ 

Taking  $x = x_n$  in (1) we obtain

$$\left| \frac{f(x_n + y) + f(x_n + \sigma y)}{2g(x_n)} - g(y) \right| \le \frac{\varphi(y)}{|2g(x_n)|},$$

that is,

(3) 
$$\lim_{n \to \infty} \frac{f(x_n + y) + f(x_n + \sigma y)}{2g(x_n)} = g(y) \quad y \in G.$$

Using (1) we have

$$|f((x_n+x)+y) + f((x_n+x)+\sigma y) - 2g(x_n+x)g(y) + f((x_n+\sigma x)+y) + f((x_n+\sigma x)+\sigma y) - 2g(x_n+\sigma x)g(y)|$$

$$\leq 2\varphi(y)$$

so that

$$\left| \frac{f(x_n + (x+y)) + f(x_n + \sigma(x+y))}{2g(x_n)} + \frac{f(x_n + (x+\sigma y)) + f(x_n + \sigma(x+\sigma y))}{2g(x_n)} - 2\frac{g(x_n + x) + g(x_n + \sigma x)}{2g(x_n)} g(y) \right|$$

$$\leq \frac{\varphi(y)}{|g(x_n)|}$$

for all  $x, y \in G$ . Taking the limit as  $n \longrightarrow \infty$  with the use of (2) and (3), we conclude that, for every  $x \in G$ , there exists the limit

$$h(x) := \lim_{n \to \infty} \frac{g(x_n + x) + g(x_n + \sigma x)}{2g(x_n)},$$

where the function  $h: G \to \mathbb{C}$  obtained in that way has to satisfy the equation

(4) 
$$q(x+y) + q(x+\sigma y) = 2h(x)q(y) \quad x, y \in G.$$

The assumption g(0) = 1 forces, which jointly with (4), that g = h. Namely this means that g is solution of  $(\tilde{C})$ . Therefore the proof of the theorem is completed.  $\square$ 

Corollary 1. Suppose that  $f,g:G\to\mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x+\sigma y) - 2g(x)g(y)| \le \varepsilon$$
  $x, y \in G$ ,

with g(0) = 1. Then either g is bounded or g satisfies  $(\widetilde{C})$ .

**Corollary 2.** Suppose that  $f, g: G \to \mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x-y) - 2g(x)g(y)| \le \varphi(y)$$
  $x, y \in G$ ,

with g(0) = 1. Then either g is bounded or g satisfies (C).

Corollary 3. Suppose that  $f, g: G \to \mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x-y) - 2g(x)g(y)| \le \varepsilon$$
  $x, y \in G$ ,

with g(0) = 1. Then either g is bounded or g satisfies (C).

**Theorem 2.** Let (G,+) be an uniquely 2-divisible group. Suppose that  $f,g:G\to\mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x+\sigma y) - 2g(x)g(y)| \le \varphi(x) \qquad x, y \in G,$$

with g(0) = 0. Then either g is bounded or g satisfies  $(\widetilde{S})$ .

*Proof.* Let g be unbounded. Then we can choose a sequence  $\{y_n\}$  in G such that

(6) 
$$0 \neq |g(y_n)| \to \infty$$
, as  $n \to \infty$ 

Taking  $y = y_n$  in (5) we obtain

$$\left|\frac{f(x+y_n)+f(x+\sigma y_n)}{2g(y_n)}-g(x)\right|\leq \frac{\varphi(x)}{|2g(y_n)|},$$

that is,

(7) 
$$\lim_{n \to \infty} \frac{f(x+y_n) + f(x+\sigma y_n)}{2g(y_n)} = g(x) \quad y \in G.$$

Using (5) we have

$$|f(x+(y+y_n)) + f(x+\sigma(y+y_n)) - 2g(x)g(y+y_n)$$

$$+ f(x+(\sigma y+y_n)) + f(x+\sigma(\sigma y+y_n)) - 2g(x)g(\sigma y+y_n)|$$

$$\leq 2\varphi(x)$$

so that

$$\left| \frac{f(x+y+y_n) + f(x+y+\sigma y_n)}{2g(y_n)} + \frac{f(x+\sigma y + y_n) + f(x+\sigma y + \sigma y_n)}{2g(y_n)} - 2g(x) \frac{g(y+y_n) + g(\sigma y + y_n)}{2g(y_n)} \right|$$

$$\leq \frac{\varphi(x)}{|g(y_n)|}$$

for all  $x, y \in G$ . Taking the limit as  $n \longrightarrow \infty$  with the use of (6) and (7), we conclude that, for every  $x \in G$ , there exists the limit

$$h(y) := \lim_{n \to \infty} \frac{g(y + y_n) + g(\sigma y + y_n)}{2g(y_n)},$$

where the function  $h:G\to\mathbb{C}$  satisfies the equation

(8) 
$$g(x+y) + g(x+\sigma y) = 2g(x)h(y) \quad x, y \in G.$$

The assumption g(0) = 0 forces, which jointly with (8), that g is odd function. Keeping this in mind, by means of (8), we infer the equality

$$g(x+y)^{2} - g(x+\sigma y)^{2} = [g(x+y) + g(x+\sigma y)][g(x+y) - g(x+\sigma y)]$$

$$= 2g(x)[g(x+y) - g(x+\sigma y)]h(y)$$

$$= g(x)[g(x+2y) - g(x+2\sigma y)]$$

$$= g(x)[g(x+2y) + g(\sigma x + 2y)]$$

$$= g(x)2g(2y)h(x).$$

Since the oddness of g forces  $g(x + \sigma x) = 0$ , putting x = y in (8) we get the equation

$$g(2y) = 2h(y)g(y), \quad \forall y \in G.$$

This, in return, leads to the equation

$$g(x+y)^2 - g(x+\sigma y)^2 = g(2x)g(2y)$$

valid for all  $x, y \in G$  which, in the light of the unique 2-divisibility of G, states nothing else but  $(\tilde{S})$ . Therefore the proof of the theorem is completed.

**Corollary 4.** Suppose that  $f, g: G \to \mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x+\sigma y) - 2g(x)g(y)| \le \varepsilon$$
  $x, y \in G$ ,

with g(0) = 0. Then either g is bounded or g satisfies  $(\widetilde{S})$ .

**Corollary 5.** Suppose that  $f, g: G \to \mathbb{C}$  satisfy the inequality

$$|f(x+y) + f(x-y) - 2g(x)g(y)| \le \varphi(x) \qquad x, y \in G_{\epsilon}$$

with g(0) = 0. Then either q is bounded or q satisfies  $(\widetilde{S})$ .

### 3. EXTENSION TO THE BANACH ALGEBRA

In all results of section 2, the range of function on the abelian group can be extended to the Banach algebra. To simplify, we will combine two theorems in one.

**Theorem 3.** Let  $(E, \|\cdot\|)$  be a semisimple commutative Banach algebra. Assume that  $f, g: G \to E$  satisfy one of the inequalities

with g(0) = 1 in the case (i) and g(0) = 0 in the case (ii).

For an arbitrary linear multiplicative functional  $x^* \in E^*$ , if the superposition  $x^* \circ g$  fails to be bounded, then

- (a) g satisfies  $(\widetilde{C})$  in the case (i),
- (b) g satisfies  $(\widetilde{S})$  under the 2-divisible group G in the case (ii).

*Proof.* Assume that (9) holds and fix arbitrarily a linear multiplicative functional  $x^* \in E^*$ . Since  $||x^*|| = 1$ , we have, for every  $x, y \in G$ 

$$\varphi(x)(\text{ or } \varphi(y)) \ge \|f(x+y) + f(x+\sigma y) - 2g(x)g(y)\|$$

$$= \sup_{\|y^*\|=1} |y^*(f(x+y) + f(x+\sigma y) - 2g(x)g(y))|$$

$$\ge |x^*(f(x+y)) + x^*(f(x+\sigma y)) - 2x^*(g(x))x^*(g(y))|,$$

which states that the superposition  $x^* \circ g$  yields a solution of the inequality (1) and the inequality (5). Since, by assumption, the superposition  $x^* \circ g$  is unbounded, an appeal to Theorem 1 and Theorem 2 shows that the function  $x^* \circ g$  solves the equation  $(\tilde{C})$  in (i) and the function  $x^* \circ g$  solves the equation  $(\tilde{S})$  in (ii), respectively.

In other words, bearing the linear multiplicativity of  $x^*$  in mind, for all  $x, y \in G$ , the differences  $\widetilde{C}(x,y)$  and  $\widetilde{S}(x,y)$  fall into the kernel of  $x^*$ . Therefore, in view of the unrestricted choice of  $x^*$ , we infer that

$$\widetilde{C}(x,y),\widetilde{S}(x,y)\in\bigcap\{\ker x^*:x^*\text{ is a multiplicative member of }E^*\}$$

for all  $x, y \in G$ . Since the algebra E has been assumed to be semisimple, the last term of the above formula coincides with the singleton  $\{0\}$ , i.e.

$$\widetilde{C}(x,y) = \widetilde{S}(x,y) = 0$$
 for all  $x, y \in G$ ,

as claimed.

**Corollary 6.** Let  $(E, \|\cdot\|)$  be a semisimple commutative Banach algebra. Assume that  $f, g: G \to E$  satisfy one of the inequalities

$$\|f(x+y)+f(x-y)-2g(x)g(y)\| \leq egin{cases} (i)arphi(y) \ (ii)arphi(x) \end{cases} \quad x,y \in G,$$

with g(0) = 1 in the case (i) and g(0) = 0 in the case (ii).

For an arbitrary linear multiplicative functional  $x^* \in E^*$ ,

if the superposition  $x^* \circ g$  fails to be bounded, then

- (a) g satisfies (C) in the case (i),
- (b) g satisfies (S) under the 2-divisible group G in the case (ii).

**Corollary 7.** Let  $(E, \|\cdot\|)$  be a semisimple commutative Banach algebra. Assume that  $f, g: G \to E$  satisfy the inequality

$$\|f(x+y)+f(x+\sigma y)-2g(x)g(y)\|\leq arepsilon \qquad x,y\in G.$$

For an arbitrary linear multiplicative functional  $x^* \in E^*$ ,

if the superposition  $x^* \circ g$  fails to be bounded, then

- (a) g satisfies  $(\widetilde{C})$  under the condition g(0) = 1,
- ·(b) g satisfies  $(\widetilde{S})$  under the 2-divisible group G and the condition g(0)=0.

**Corollary 8.** Let  $(E, \|\cdot\|)$  be a semisimple commutative Banach algebra. Assume that  $f, g: G \to E$  satisfy the inequality

$$||f(x+y) + f(x-y) - 2g(x)g(y)|| \le \varepsilon$$
  $x, y \in G$ .

For an arbitrary linear multiplicative functional  $x^* \in E^*$ ,

if the superposition  $x^* \circ g$  fails to be bounded, then

- (a) g satisfies (C) under the condition g(0) = 1,
- (b) g satisfies (S) under the 2-divisible group G and the condition g(0) = 0.

#### REFERENCES

- 1. R. Badora: On the stability of cosine functional equation. *Rocznik Naukowo-Dydak.*, *Prace Mat.* **15** (1998), 1-14.
- 2. R. Badora & R. Ger: On some trigonometric functional inequalities. Functional Equations- Results and Advances (2002), 3-15.
- J. A. Baker: The stability of the cosine equation. Proc. Amer. Math. Soc. 80 (1980), 411-416.
- 4. J. Baker, J. Lawrence & F. Zorzitto: The stability of the equation f(x+y) = f(x)f(y). Proc. Amer. Math. Soc. 74 (1979), 242-246.
- 5. D. G. Bourgin: Approximately isometric and multiplicative transformations on continuous function rings. *Duke Math. J.* **16** (1949), 385–397.
- P. W. Cholewa: The stability of the sine equation. Proc. Amer. Math. Soc. 88 (1983). 631-634.
- P. de Place Friis: d'Alembert's and Wilson's equations on Lie groups. Aequationes Math. 67 (2004), 12-25.
- 8. Pl. Kannappan: The functional equation  $f(xy) + f(xy^{-1}) = 2f(x)f(y)$  for groups. Proc. Amer. Math. Soc. 19 (1968), 69-74.
- 9. Pl. Kannappan & G. H. Kim: On the stability of the generalized cosine functional equations. Annales Acadedmiae Paedagogicae Cracoviensis-Studia Mathematica 1 (2001), 49-58.
- 10. G. H. Kim: The stability of the d'Alembert and Jensen type functional equations. J. Math. Anal. Appl., In press (2006).
- 11. G. H. Kim & Sever S. Dragomir: On the Stability of generalized d'Alembert and Jensen functional equations. *Internat. J. Math. & Math. Sci.*, In press (2006).
- G. H. Kim & S. H. Lee: Stability of d'Alembert and Jensen type functional equations, Nonlinear Funct. Anal. & Appl. 9 (2004), 593-604.
- 13. C. T. Ng: Jensen's functional equation on groups III. Aequationes Math. 62 (2001), 143–159
- 14. P. Sinopoulos: Functional equations on semigroups, Aequationes Math. 59 (2000), 255-261
- H. Steaker: On Jensen's functional equation on groups. Aequationes Math. 66 (2003), 100-118

DEPARTMENT OF MATHEMATICS, KANGNAM UNIVERSITY, YONGIN, GYEONGGI, 446-702, KOREA Email address: ghkim@kangnam.ac.kr